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Q1. What is the difference between the largest five digit number and the smallest four digit
number?

A. 100,999 B. 99,999
C. 98,999 D. 10,000

Correct Ans: C
Q1. U 37l f T 7 &A1 3 IR 3 H Ta@ N TE&AT F AT FAT IR §?
A. 100,999 B. 99,999

C. 98,999 D. 10,000

Correct Ans: C

Q2. How many times is 1728 divisible by 12?

A. 20736 B. 150

C. 144 D. 0.6944
Correct Ans: C

Q2.1728 # 12 W fFasit IR 19T fhaT ST WehelT §2

A. 20736 B. 150

C. 144 D. 0.6944

Correct Ans: C

Q3. If 73 is added to the square of a number the answer is 539. What is the number?
A. 16 B. 14

C. 12 D. 18

Correct Ans: B

Q3. 7% 73 F ve TEAT F T F T AT AT § @ 3ca} 539 ¥ I8 FEAT FATE?

A. 16 B. 14

C. 12 D. 18

Correct Ans: B

Q4. What is the square root of 256/144?

A. 4/3 B. 3/4
C. 16/9 D.1
Correct Ans: A

Q4. 256/144 F1 IiHA FAT §?

A. 4/3 B. 3/4



C. 16/9 D.1

Correct Ans: A

Q5. In 2009, a school had 1500 students. In 2010 it experienced a 12% growth in student’s
enrollment and it is expecting a further growth of 5% in 2011. Based on these figures, how
many students can the school expect to enroll in 2011?

A. 1680 B. 1755
C. 1700 D. 1764

Correct Ans: D

Q5. 9% 2009 #, T TH # 1500 S A1 2010 H, T O F YIA # 12% Y §§ 3 a8 2011 #F 5% H
FfaRaa gfg g1 &1 amem #% 1@ ¥1 37 3wst & MUK W, 6 Thod 2011 F fraar o1 81 & e F TFd 82

A. 1680 B. 1755
C. 1700 D. 1764

Correct Ans: D

Q6. A dress available for Rs. 1500 is now available for Rs. 1200. What is the discount that the
shop is offering on the dress?

A. 20% B. 25%
C.30% D. 15%

Correct Ans: A

Q6. 1500 F9& FT TF GRITEH Ia 1200 T4 H 3YA §| GH GaRT 38 WRMF W fraeh ge & o @ 8?2
A. 20% B. 25%

C. 30% D. 15%

Correct Ans: A

Q7. What is the probability that when a coin is tossed three times successively the outcome
would be three tails?

A.15% B. 16.66%
C.12.5% D. 33.33%

Correct Ans: C

Q7. & AT+ F fid IR 3BT W AR et 9 FT IO Feret AT fFas= Tsimeadr 2

A. 15% B. 16.66%
C.12.5% D. 33.33%

Correct Ans: C

Q8. When two dice are thrown what is the probability that a total of 5 will not appear?
A.7/9 B. 8/9

C.6/9 D. 5/9

Correct Ans: B

Q8. S &Y IiHY Y thepl FATAT § A ST FhcIell THTAAT & TF 5 FT A Yhe AZT §1oN?

A.7/9 B. 8/9



C. 6/9 D. 5/9

Correct Ans: B

Q9. Ram buys 25 books at Rs. 10 each. If he sells the books at Rs. 300, how much profit does
he make on each book?

A. 25% B. 30%
C.15% D. 20%

Correct Ans: D

Q9. TH 10 T A+ & FHT & 25 frde Tliedr §1 3PR a8 3«1 fhdmel # 300 93 & I<aT § dF 98 YA+ fhde
R FRT ST FATTIM?

A. 25% B. 30%
C.15% D. 20%

Correct Ans: D

Q10. From a bag of 100 balls, Ridhi takes one tenth of the balls and Siddhi takes one third of
what is remaining. How many balls did Siddhi take?

A. 10 B. 33
C. 30 D. 35

Correct Ans: C

Q10. 100 it ¥ v s F ¥, A ISt F gud smor ; Prawrareh ¥ 3t R v-faets amr # S 31 AR
fordet It # APrar 2

A. 10 B. 33
C. 30 D. 35

Correct Ans: C

Q11. Find the odd-one out in the following:

Copper, Aluminum, Oil, Lead
A. Copper B. Aluminum
C. Oil D. Lead

Correct Ans: C

Q11. farafafaa & ¥ RvA AT A

aran, srefafae, do, W
A. dieT B. refAfema
C.de D. €@rar

Correct Ans: C

Q12. Find the odd-one out in the following:

Mercury, Venus, Mars, Sun
A. Mercury B. Sun
C. Venus D. Mars



Correct Ans: B

Q12. farafafaa & ¥ RwA AT
T, Y, o,
A U B. g&

N

C. Ih D. #HITe

Correct Ans: B

Q13. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
the original pair:

Bank: Money:: Sun: _____ ?
A. Round B. Heat
C. Moon D. Dark

Correct Ans: B

Q13. a7 ¥Avs e gfad st q o7 & dffcasa Waw & greed waw A gaies FfdeafFa war d:

dFamgd ?
A. e B. aT
C. TgHT D. 38R

Correct Ans: B

Q14. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
the original pair:

Bed sheet: Bed:: Curtain: ______?
A. Table B. Pillow
C. Window D. Computer

Correct Ans: C

Q14. 77 waAss Rwew afed St 7T Ioor F Afdregwra daw & ey way i gdAvs FfeafFa swar e:

qeI g g@r: __?
A. AT B. dfar
C. Rassr D. el

Correct Ans: C

Q15. Find the missing term: 83, 82, 84,81, _, 80
A. 85 B. 86

C.79 D. 87
Correct Ans: A

Q15. I W& A Hifaw: 83, 82, 84, 81, _, 80

A. 85 B. 86



C. 79 D. 87

Correct Ans: A

Q16. If the MECHANIC is called the DOCTOR, DOCTOR is called the PILOT, PILOT is called the
HERO, HERO is called the DANCER, and DANCER is called the DRIVER, who will prescribe
medicine for iliness?

A. HERO B. PILOT
C. DANCER D. MECHANIC

Correct Ans: B

Q16. IfE AHfArF F SFeT FET AT, STFCR FY TAeIE Fgl AT, IR F ERY FgT ST, R A ST FaT ow 3T
AT HY AT FET AT Y NART & fow gansit F1 e i gam?

A. &Y B. 9Iele

C. 3=&X D. Hfaew

Correct Ans: B

Q17. If the TAILOR is called the MASON, MASON is called the ARCHITECT, ARCHITECT is called
the JOURNALIST, JOURNALIST is called the MINISTER and MINISTER is called the PRIEST,
who will stitch clothes?

A. MASON B. TAILOR
C. ARCHTECT D. MINISTER

Correct Ans: A

Q17. 7 ZSit Y TSR FT AT, TSR F AFTHR FT ST, IRJFR H TIHR FT A1, TTHR H FA FgT S0 3
i FY 91edY FET AT Y FlT FIS {eom?

A. TN B. gaif

C. aEgHR D. &l

Correct Ans: A

Q18. In a different coding system MERCENARY is coded as ZREPRANEL, how is RACEME coded
as?

A. ENPRRZ B. ENRPRZ
C. ENRPZR D. ENPRZR

Correct Ans: D

Q18. 3% wF Mt Fe ol # MERCENARY #I ZREPRANEL & ¥ & Feag fam Sirar § af RACEME &Y #&
Feag fam Sean?

A. ENPRRZ B. ENRPRZ

C. ENRPZR D. ENPRZR

Correct Ans: D

Q19. In a different coding system VACATION is coded as 21310954, how is NOTATION coded
as?

A. 45010954 B. 45001954
C. 45001195 D. 45010945



Correct Ans: A

Q19. 7% vw &=t FT Yorrelt § VACATION #1 21310954 & w9 # Feag a1 a1 § af NOTATION & %
Feag far smean?

A. 45010954 B. 45001954
C. 45001195 D. 45010945

Correct Ans: A

Q20. From the four answer choices, find the missing element in the question figure to
complete the series.
Question Figure

) . B. .
’ .
Correct Ans: D

Q20. @ F M FA F fAT woaT Irpfer & ot A F Ieaw F IR vl & & 717 A
R ATHfar

A. . B. .
’ .

Correct Ans: D



Q21. Firewalls cannot provide:

A. protection against viruses originated B. protection against unauthenticated interactive logins
from infected USB flash drives

C. protection against network-borne D. None of the options

attacks

Correct Ans: A

Q21. BRIATT Ig et HodT U Fehell 8+

A. gethares USB Tolel 315d U el aTel dRRE B, I9ATIUIT SeXfared diags & gam
 gam
C. secash-slel gHel & FI&T D. 394Fd & & i3 faehod et

Correct Ans: A

Q22. What does the term "DM2Z"” in computer networks stand for?
A. Database Manage Zone B. Demilitarized Zone
C. Data Militarized Zone D. Database Migrate Zone

Correct Ans: B

Q22. FY AcaFd H "DMZ” ug F F41 HfATT 82

A. STCTST HeloT il B. Efaciigses ST
C. steT [Aeilersss aa D. 3Ny AT SAleT

Correct Ans: B

Q23. Examples of system software includes:
A. Operating systems B. Utility programs
C. Compilers D. All of the options

Correct Ans: D
Q23. AT AIFedW F 30N 7 MfA §:

A. 3TofET Rees B. F&TrEr e

C. FFUsd D. 39gerd |afl fasheq

Correct Ans: D

Q24. Which of the following user interface you need to open to uninstall a program from your
Windows 8 system?

A. Internet Explorer B. Control Panel
C. Windows Explorer D. Recycle bin
Correct Ans: B

Q24. 39t Windows 8 feea & fardll fhamer &1 aeiselar axat & AT, vt fewfaf@a #laar Ior sevba @ea
# TR 8?2

A. 3TTAT TFATART B. &herel Uaer



C. [a9s taawaRY D. Rarssd o=

Correct Ans: B

Q25. An attribute or a combination of attributes in one table whose values must either match
the primary key in another table or be null is called

A. Secondary Key B. Super key
C. Candidate Key D. Foreign Key

Correct Ans: D

Q25. tF ad ¥ v v vdiee A1 wieqeH 1 FiFdaeE, Srad 3o v e dae # s - Y F e g aifye
A1 T gl =R, Fgeren §:

A. dhsl & B. W &r
C. ¥disT Hr D. R &I

Correct Ans: D

Q26. Identify the odd one.

A. Monitor B. Printer
C. Speaker D. Keyboard
Correct Ans: D

Q26. fava $ gguE |

A. Al B. e

C. Tt D. H-a18

Correct Ans: D

Q27. A USB protocolisa______ channel.

A. Simplex B. Half-duplex

C. Full-duplex D. Both simplex and half-duplex
Correct Ans: C

Q27.Tw USB WS UH ___ Aae B

A. RicaTa B. gTh-3gColed

C. Fa-3TeoFH D. ficesra 3R gh-ggeaierd, ket
Correct Ans: C

Q28. The distance between the affects the size of the projected contents on an
LCD projector.

A. Projector and wall B. Projector and screen

C. Projector and audience D. None of the options

Correct Ans: B

Q28. & & 1 gt v LCD Weteet W yaIfa anrelt & wrger 3t wenfaa ael g1
A. gisiee 3R §ar B. WioiFex 3R EhieT




C. Wi 31X g2 D. 39ded & ¥ IS faehod et

Correct Ans: B

Q29. The security provided by Internet Protocol Security (IPsec) work at:

A. Transport layer B. Network layer

C. Application layer D. Session layer

Correct Ans: B

Q29. $e¥ae et RFNRE (IPsec) garT AEAT T T arelt TR Fg1 W For w2 8
A. TECIE R B. Aicad ol

C. TClIaRIe JaX D. AT oW

Correct Ans: B

Q30. Wireless Protected Access 2 (WPA2) security authentication is commonly used on:
A. Ethernet B. Bluetooth
C. Wi-fi D. All of the options

Correct Ans: C

Q30. ITAAR W, IRTAT WefFes AT 2 (WPA2) RFaRE rd=dEereT Fgi W sTAATT fHa1 SAraT 8

A. AT B. se[c¥
C. aE-F18 D. 39ded |af fasheq

Correct Ans: C

Q31. An attack which makes the computer resources unavailable to its intended users is called
A. Denial-of-service attack B. Virus attack
C. Worms attack D. Botnet process

Correct Ans: A

Q31. ¥HT 3¢F A FRIY NI FY 30% i IR & AT 3reqaerees g1 &ar §, Feoan :
A. Fearrer-3iTh-afde aits B. aRH 31¢H
C. aFq 31+ D. siesie 9 i

Correct Ans: A

Q32.__ ___is considered as a “Scareware” as it forces users to pay a fee by scaring or
intimidating them.

A. Spam B. Adware

C. Spyware D. Ransomware

Correct Ans: D

P TF “FIAI” AT AT ¢ FAF Tg T4 H SR AT YHFE T B THe & fAT 3o Aoy

A. TaTH B. TSd:



C. TIERR D. {HAIRR

Correct Ans: D

Q33. The act to obtain confidential information from a user by falsifying their identity is called

A. Computer virus B. Spyware scam
C. Phishing scam D. None of the options

Correct Ans: C

Q. HGR A AT A T- N NS EE A T qaaT ad A M Fed __ FEATar g
A. FYI aRIH B. TURISAI T
C. TofrT T D. 35&d # ¥ #Ig faeved =7gt

Correct Ans: C

Q34.InC++,______ is the syntax used to access data members of an object.
A. object@datamember B. object*datamember
C. object->datamember D. object.datamember

Correct Ans: D

Q34.C++#,______ a¢ Rdaw ¢ ol 0F avq & STl AFad F TF0H I & (A0 FEAATS fohaT i1 21
A. object@datamember B. object*datamember
C. object->datamember D. object.datamember

Correct Ans: D

Q35. In Java, is the range of "byte" data type.

A.-128 to 127 B. -32768 to 32767
C.-2147483648 to 2147483647 D.-1to+1

Correct Ans: A

Q35.9mar &, “aEe” serera AT ¥
A.-1289 127 B. -32768 ¥ 32767
C.-2147483648 ¥ 2147483647 D.-1¥ +1

Correct Ans: A

Q36. Which is NOT a computer peripheral?
A. Tape drive B. Motherboard
C. Microphone D. Light Pen

Correct Ans: B

Q36. 31 ¥ FIeT AT TF FYET WA 7T 82

A. 29 313q B. #FicIaIs
C. HATShItIT D. &8¢ Uo7



Correct Ans: B

Q37. Which is the temporary memory that provides high-speed data access to a processor?
A. Random Access Memory (RAM) B. Cache

C. Read Only Memory (ROM) D. Flash

Correct Ans: B

Q37. g IR AR Fa H & S v NAWT F g1§-Ths STeT TFAT HAT FAH 82

A. {57 0" AANT (RAM) B. Cache

C. 313 3fieAell #ART (ROM) D. woler

Correct Ans: B

Q38. Which one can generate images to a computer monitor?
A. Sound card B. Video card

C. Expansion card D. Modem

Correct Ans: B

Q38. 5H ¥ FIT AT 0F FY Al & AT $AT AN F FFa1 82

A. |13 &5 B. difsar &S

C. UFHURI &S D. AlSH

Correct Ans: B

Q39. Which of the following is a strong password?
A. 29thSeptember88 B. Bangalore88
C. laugustdelhi@# D. P@a55w0rd

Correct Ans: D
Q39. farafaf@a Fia 91 v arhaaT THas §?
A. 29thSeptember88 B. Bangalore88

C. laugustdelhi@# D. P@a55w0rd

Correct Ans: D

Q40. X*(Y.Z)=(X*Y).(X*2Z) is the:
A. commutative property B. distributive property
C. associative property D. identity property

Correct Ans: B

Q40. X*(Y.Z)=(X*Y).(X*Z) &:

A. wiFgefea diaéf B. fB¥diegfea wudt
C. vafaufea gradt D. 3mssfedr daet

Correct Ans: B



Q41. Which of the following user interface allows you to create files and folders in Windows 7
operating systems?

A. Windows Explorer B. Internet Explorer
C. Recycle Bin D. Basic Input/output system (BIOS)

Correct Ans: A

Q41. Prafaf@a Fia a1 IER sexta 3w forw fisker 7 iR Rees # wEal it Bestd F aem=n T3T Far 8?

A. T3S ToHTEIRT B. Se¥aiT TFITAIRY
C. Rasad foe D. af&r =e/3m3eye eea (BIOS)

Correct Ans: A

Q42. Layer between the computer hardware and useriscalledas __
A. Device driver B. Keyboard
C. Operating System D. Monitor

Correct Ans: C

Q42 TR FEIM IR R Fdg M ___ FET ST ¢
A. f3asd sBER B. HI-a8
C. TR Reea D. HAleilex

Correct Ans: C

Q43. As the processes are loaded and removed from the memory, the free space in memory is
broken into scattered pieces. This process in operating system is called

A. Mapping B. Segmentation
C. Paging D. Fragmentation
Correct Ans: D

Q43. 7 AR # NrARE Fr s AT R gern ST @ A AR A 3Tt B FF @Y g ghsi A §T e B

A. AT B. Qedcud
C. ufSer D. AT

Correct Ans: D

Q44. You have to review and make revisions to your team's project report in MS Word 2010
and provide a feedback. Which of the following features of MS Word 2010 should you use?

A. Auto Summarize B. Track Changes
C. Compare and Merge documents D. Mail Merge

Correct Ans: B

Q44. 3TTH! 9N &7 A Wrarge RANE H MS Word 2010 #F Reg Ftar 3 sa3 s Feesr w3 §1 3masr MS
Word 2010 &1 Fafafad sl a1 frar sTd#Te Ftr aifge?

A. Auto Summarize B. Track Changes

C. Compare and Merge Documents D. Mail Merge



Correct Ans: B

Q45. You want to send a Word document as an email attachment. Which of the following
commands in Word 2010 would help you to perform the requirement?

A. Save & Send B. Print
C. Save As D. Save

Correct Ans: A

Q45. Y T a3 STagc F AT T & I 7 Ao Ted ¢1 75 2010 F Fvrafaf@a sl @ w13 78 F1f F==t
& 3T Age FAN?

A. Save & Send B. Print

C. Save As D. Save

Correct Ans: A

Q46. Which combination of keys will you use to write the subscript 2 in X2 in MS Word 2010?
A. Press Alt and = B. Press Ctrl and =
C. Press Shift, Alt, and = D. Press Alt, Shift, Ctrl and =

Correct Ans: B

Q46. 3T9H MS Word 2010 # X2 & 2 & gafewe & foaga & v Arafafaa fFa aeat # v gy seaa
FHTAT TIET?

A. Alt 31X = = gamar B. Ctrl 3iR = = garer

C. Shift, Alt, 3R = & gar=Tr D. Alt, Shift, Ctrl 31k = &I gameTr

Correct Ans: B

Q47. In your document, the review pane appears vertically. What will you perform to display it
horizontally?

A. Click View -> Reviewing Pane -> B. Click Review -> Show Markup -> Review Pane Horizontal
Review Pane Horizontal

C. Click Review -> Reviewing Pane -> D. Click Review -> Reviewing Pane -> Review Pane Horizontal
Review Pane Vertical

Correct Ans: D
Q47. 3% stagHT # review pane it @3t R@$ & 16T 81 39 Fa1 HY arfer a7 3wt e 932

A. View -> Reviewing Pane -> Review B. Review -> Show Markup -> Review Pane Horizontal & fFe®
Pane Horizontal & fFee &tetr T

C. Review -> Reviewing Pane -> Review D, Review -> Reviewing Pane -> Review Pane Horizontal &r
Pane Vertical I & e Ferh T

Correct Ans: D

Q48. What will be the output of, = Count B1:B99 in an MS Excel 2010 document?

A. Count is an invalid function. B. Counts the number of cells B1 through B98 that contains
numbers.

C. #NULL! appears in the respective cell. D. Counts the number of cells B1 through B99 that contains
numbers.



Correct Ans: D
Q48. MS Excel 2010 si#g#T # = Count B1:B99 FT T3 FAT gHN?
A. Count Ueh 3HTY HeFeleT & B. B1 & e B98 deh Ao T 01T &l ¢ foletel Heamt Hisg il

C. Gafd ¥ef 7 #NULL! 9ohe gl g D. B1 & e B9 e Hed &N 0Tl el & Totetdl HEATT HISG &1

Correct Ans: D

Q49. What will be the output of =SUM (C2:C8) in MS Excel?

A. Displays the sum of cells C2 through B. Counts the number of cells.
C8 that contains numbers.

C. Displays the sum of cells C1 through D. NULL appears in the respective cell.
C7 that contains numbers.

Correct Ans: A

Q49. MS Excel # =SUM (C2:C8) F HT3TYC FAT 12

A. C2 & I C8 cell o Sis femrar @ fodl B, ot dod & T&am &1 fefcly e 8|
HEAT A 8l

C. C1 & o C7 T oo &l oiis fe@rar § D. H&fd ¥l & NULL Yehe glar &1
fomet deamd Atsg &l

Correct Ans: A

Q50. You want to arrange the data in column A in ascending order. Which of the following
command would you use in MS Excel 2010?

A. Sort B. Filter
C. Consolidate D. Group

Correct Ans: A
Q50. 3T Hied A ¥ 3T H ARE FA A AT Aed 1 31T MS Excel 2010 # & Y FA13 sTAATT HLa?
A. Sort B. Filter

C. Consolidate D. Group

Correct Ans: A

Q51. What will you do to insert a formula in Microsoft Excel 2010?

A. Choose the New command from the B. Select the cell, type = sign and then type the formula.
File menu and enter the formula.

C. Select the cell and type the formula. D. Select the cell, type + sign and type the formula.

Correct Ans: B

Q51. ABFNIYE TFAA 2010 # TF BIHAT $70E F1 & AT M9 F41 FL?

A. File Asg & New command & Tl 31X B. &l &l Aolare alall, = 1 FRAgeT 89 el 3 R wiaferr <
AT TeT e AT

C. Tl I Yolere el AR BIET BT FA D, Ul T Yolae e, + F e TS Flell 3R BIAAAT ST el

Correct Ans: B



Q52. How will you add a new slide in PowerPoint 2010?

A. On the Home tab, click New Slide. B. On the Insert tab, click New Slide.
C. On the Slide Show tab, click New Slide. D. On the Design tab, click New Slide.
Correct Ans: A

Q52. 3T HA yrareaEe 2010 & T 75 TABS I ASHA?

A. Home ¢& W New Slide WX fFele aall B. Insert €& W New Slide W f&FeTeh &aT

C. Slide Show && W New Slide W Fel& D. Design &§ W New Slide W TFeleh &
G

Correct Ans: A

Q53. How will you view a PowerPoint 2010 presentation in slide show view?

A. On the Slide Show tab, click From B. On the Slide Show tab, click Start -> Broadcast Slide Show.
Beginning.
C. On the File tab, click Print. D. On the File tab, click Save.

Correct Ans: A
Q53. ¥ Y UF Yraearse 2010 Yl FI o133 ot g # @

A. Slide Show ¢& @ From Beginning W B. Slide Show ¢ W Start -> Broadcast Slide Show W &
[EGEETT) AT

C. File &5 9 Print WX [Fele adeTm D. File ¢§ WX Save 9T &l aar

Correct Ans: A

Q54. The online travel portal, MakeMyTrip, is headquartered in which city?
A. New Delhi B. Mumbai

C. Gurugram D. Chandigarh

Correct Ans: C

Q54. JiaTs ¢ad Ui, AFATS T F1 AT fFe aeT 7 82

A. 78 Ree B. &%

C. Treans D. =gNg

Correct Ans: C

Q55. Which of the following is a woman freestyle wrestler who won India's first ever gold
medal in wrestling at the Commonwealth Games in 2010?

A. Babita Kumari Phogat B. Geeta Phogat
C. Priyanka Phogat D. Ritu Phogat

Correct Ans: B

Q55. farafaf@a #la ag aftar Prera Fedllare § S 2010 F IgAzd AT F HRT FT 3T dF g1 T 9GH
Shar g?

A.aﬁwrfnmw B. 37T BleTE
C. TORIepT WieTe D. Jief $ieTe



Correct Ans: B

Q56. Haryana State was formed in which year?
A. 1965 B. 1954
C. 1960 D. 1966

Correct Ans: D
st.maﬁﬁgﬂwwnmaﬁr}'mgé ofr?

A. 1965 B. 1954
C. 1960 D. 1966

Correct Ans: D

Q57. What is the full form of NTPC, one of India's largest energy Company?
A. National Thermal Power Corporation B. Northern Territories Power Corporation
C. National Tidal Power Corporation D. Northern Thermal Power Corporation

Correct Ans: A
Q57. 9 #I & Had q31 ST H9ell, NTPC FT T A1 47 52
A. National Thermal Power Corporation B. Northern Territories Power Corporation

C. National Tidal Power Corporation D. Northern Thermal Power Corporation

Correct Ans: A

Q58. What is the full form of NASSCOM?

A. National Association of Software and B. Natural Association of Software and Services Companies
Services Companies

C. National Accreditation of Software and D. National Amalgamation of Software and Services Companies
Services Companies

Correct Ans: A
Q58. NASSCOM & 7T A1 F4T 8?2

A. National Association of Software and B. Natural Association of Software and Services Companies
Services Companies

C. National Accreditation of Software and D. National Amalgamation of Software and Services Companies
Services Companies

Correct Ans: A

Q59. Name the first Chief Minister of Haryana?
A. Shri. Manohar Lal Khattar B. Shri. Bhagwat Dayal Sharma
C. Shri. Bansi Lal D. Shri. Bhajan Lal

Correct Ans: B
Q59. RN F g FET FA F AT FAR?
A. & FAIEY el WX B. & 1919 gaTer AT

C. & 98T ofTel D. &t HalT T

Correct Ans: B



Q60. IBM has its headquarters in which city in India?
A. Gurugram B. Mumbai
C. Hyderabad D. Bengaluru

Correct Ans: D

Q60. 3R # W 2reT # IBM #1 J&AY 82
A. T&ITH B. Hes
C. ge1eTg D. §9Te%

[N

Correct Ans: D

Q61. What is the expansion of HTTPS?

s3]

A. HyperText Transfer Protocol Social . HyperText Transfer Protocol Security

C. HyperText Transfer Protocol Secure D. HyperText Transmission Protocol Secure
Correct Ans: C

Q61. HTTPS & ot &7 F4T 8?

A. HyperText Transfer Protocol Social B. HyperText Transfer Protocol Security

C. HyperText Transfer Protocol Secure D. HyperText Transmission Protocol Secure

Correct Ans: C

Q62. Maruti Suzuki has its production facility in which of the following places?
A. Manesar B. Faridabad
C. Bhiwani D. Sonipat

Correct Ans: A

Q62. farafaf@a frw srere W ARl Foghr 1 FrR@mET 82
A. AR B. wllereTg
C. ot D. &elrad

Correct Ans: A

Q63. Virender Sehwag's Cricket Academy and School is located in which district of Haryana?
A. Gurugram B. Bhiwani
C. Rohtak D. Jhajjar

Correct Ans: D
Q63. gRIN & fhw forer # diew wganT fvdhe whea! 3R wqer o §2
A. eI B. f@am=i

C. Vga® D. 3R

Correct Ans: D

Q64. Who is Anita Kundu?



A. She is a Writer B. She is an Olympic athlete
C. She is a Wrester D. She is a Mountaineer

Correct Ans: D

Q64. sfaar Fg e 82

A. I8 U Af@H § B. 98 U 3MIfFush Telle §
C. 98 Th RIS & D. 9§ T IddRIET &

Correct Ans: D

Q65. In which city is the Indian Institute of Management (IIM), located in Haryana?
A. Faridabad B. Gurugram
C. Rohtak D. Chandigarh

Correct Ans: C

Q65. gRIM & fFy e A HRANT yaesT Ty (IIM) FRya 2
A. eTsTe B. I

C. Vga® D. I3NTg

Correct Ans: C

Q66. The Central Institute for Research on Buffaloes is located at?
A. Hisar B. Chandigarh
C. Mahendragarh D. Sirsa

Correct Ans: A

Q66. ¥ ¥ ITHUT FEUWT Fel U 82

A. TER B. TENTe
C. AgeGIG D. fawar

Correct Ans: A

Q67. Haryanvi language is written in script.
A. Pallava B. Devanagari
C. Brahmi D. Kaithi

Correct Ans: B

Q67. gfmordt srar i adel & fra smar ¥
A. Jeorar B. Sa=IIT
C. siEHY D. &

Correct Ans: B

Q68. The Munshi Gumani Lal Award is presented for excellence in which field?
A. Shooting B. Athletics

C. Literature D. Handicraft making



Correct Ans: C

Q68. el IHTE o [WFHER By & F Sepsear ¢q e R Sar 82

A. fm=IeTST B. vroifeardr
C. arfgeq D. freq fa&ATor

Correct Ans: C

Q69. Saina Nehwal, India's ace badminton player, was born in?
A. Chandigarh B. Hisar

C. Hyderabad D. Panipat

Correct Ans: B

Q69. FISAT AgaTd, mﬁﬁwmmmmgm

A. =81t B. feaR

C. geXEg D. Uiaa

Correct Ans: B

Q70. The first battle of Panipat was fought in which year?
A. 1678 B. 1536

C. 1680 D. 1526

Correct Ans: D

Q70. g $r ygell a3 fFa @1l & o 1§ A2

A. 1678 B. 1536

C. 1680 D. 1526

Correct Ans: D

Q71. Badkhal Lake, near Faridabad, is fringed by which mountain range?
A. Aravalli Range B. Vindhya Range
C. Satpura Range D. Hindu Kush

Correct Ans: A

Q71. BCHIE & I d5d e fFy qddaATaT F fFaR W Ry §?
A. 3RTaT GaTHTAT B. faear ada#Ter
C. HAYRT TaTATET D. fég e

Correct Ans: A

Q72. Which river that flows through Haryana originates from Dagshai in Himachal Pradesh?
A. Ghaggar River B. Yamuna River
C. Ganges River D. Chenab River

Correct Ans: A

Q72. fEATad w2 & S ¥ 35T Tt arel) i W 7Y gRIom & F qgh 82



A. TIIR AT B. e w78

C. T Y D. TeTe AdY

Correct Ans: A

Q73. Who took oath as the Chief Justice of Punjab and Haryana High Court in August, 2016?
A. Justice Ajay Kumar Mittal B. Justice Surya Kant
C. Justice SS Kairo D. Justice S Jal Vazifdar

Correct Ans: D

Q73. 39Ed, 2016 ! frua 9o 3T gRATOM 3TT RAAET F FET FAAYF F T H Y TF0r A A2

A. =TT 35T FAR TecTel B. =l g3 #id
C. =t e v Iy D. =g #Hfc TH el TSheR

Correct Ans: D

Q74. Who is popularly known as the "Haryana Hurricane"?
A. Irfan Pathan B. Ashish Nehra
C. Kapil Dev D. Virender Sehwag

Correct Ans: C

Q74. #i "gRon gREHA" F A7 ¥ AT &2
A. STHET 9T B. 3rfiy g
C. Hue &a D. dRe HegdrT

Correct Ans: C

Q75. The brand ambassador for "Beti Bachao Beti Padhao" campaign in Haryana is?
A. Sakshi Malik B. Deepika Padukone
C. Priyanka Chopra D. Geeta Phogat

Correct Ans: A

Q75. g # "I TErEt & gersi” HFAE i FvsT 3wsT FT E?
A. arel #fers B. SYeT dTgehleT

C. oz aasT D. 3T wlame

Correct Ans: A

Q76. The Regional Centre for Biotechnology (RCB) is an academic institution established by
the Department of Biotechnology, Govt. of India with global partnership with UNESCO. Where
is its permanent campus expected to be located?

A. Hisar B. Faridabad
C. Rohtak D. Mewat

Correct Ans: B

Q76. 8T aEARFATSN g (RCB) FEARFATASN AT, R FIFR gaRT UNESCO & a1y 3w smaferdy #
FRE R 1 v Fariore FEU ¥ sae TUrRh uRET w1 Rua @1 & gsTaar §?



A. BOR B. WigeTg
C. Ugds D. #ard

Correct Ans: B

Q77. The International Crafts Mela, one of the largest crafts fair in the world, was held in
which place in 2016 ?

A. Rohtak B. Surajkund
C. Karnal D. Jind

Correct Ans: B

Q77. 2016 #, T #T v TaH 37 AT AT, IR ReT AT Fa1 ITNTHT R 17w ar?
A. g B. §Xo1s

C. AT D. Siig

Correct Ans: B

Q78. Chandimandir Cantonment, the headquarters of the Indian Army's Western Command, is
located in which city?

A. Panchkula city B. Chandigarh
C. Morni D. Pinjore

Correct Ans: A

Q78. AR IeT JaAT Y ATt FATS FT HEATT USIATET BIaa! ohg AET 7 82
A. Tl AT B. I8TG

C. ARG D. fisik

Correct Ans: A

Q79. Karnal was known to be the birth-place of Pakistan's first Prime Minister. Name him.
A. Zulfigar Ali Bhutto B. Liaquat Ali Khan
C. Shauquat Aziz D. Shujaat Hussain

Correct Ans: B

Q79. FATT NFFEATT F Tgor Tl FHaAl Y ST g F AT 9fAg &1 31 A7 Tad|

A. BRI 37elT 82T B. foramerd el @rer
C. el 3rfrst D. [Ty gt

Correct Ans: B

Q80. Which is the second largest city in Haryana?
A. Gurgaon (Gurugram) B. Faridabad
C. Ambala D. Hisar

Correct Ans: A

Q80. AT F GET A T3 ATT FleT AT 82



A. T[T (HATH) B. ®{iersTe
C. 3idrelr D. fewR

Correct Ans: A

Q81. Vikas Krishan Yadav from Bhiwani district in Haryana, won a gold medal in the 2010
Asian Games in which sports?

A. Boxing B. Swimming
C. High Jump D. Hockey

Correct Ans: A

Q81. g # frawt frer @ fawra Fwor aga A 2010 F vfiend @t F frw dor 7 Favives Siar ar?
A. FFHTETN B. cRTeh

C. 3 &g D. gidhr

Correct Ans: A

Q82. The Nahar Singh Stadium in Faridabad is famous for which sports?
A. Football B. Hockey
C. Cricket D. Kabaddi

Correct Ans: C
Q82. wigEe # AT R wByw fFy @« & v aRdg 82
A. peaTe B. giehr

C. fordhe D. Hagdr

Correct Ans: C

Q83. Where is The Technological Institute of Textile and Sciences, established by the Birla
Group, located?

A. Rohtak B. Bhiwani

C. Faridabad D. Sonipat

Correct Ans: B

Q83. RaT g aRT TR SFAdioIh $Tevecde H® SFAEEH Us By gl feua §?
A. Ugas B. Tl

C. WiereTe D. |iefrae

Correct Ans: B

Q84. The District of Kurukshetra is famous for which wildlife sanctuary?
A. Ranthambore Wildlife Sanctuary B. Chhilchhila Wildlife Sanctuary
C. Kalesar National Park D. Khaparwas Wildlife Sanctuary

Correct Ans: B

Q84. FT4H fore fFy geraiia 33IRvT & faw ufdg 82



A. TOTYFAR Fooia IR0 B. T&eIf&el aegaia 3naRog
C. HT T T 36Tl D. GIRa¥ T dsild ARV

Correct Ans: B

Q85. The BILT Football stadium is located in which place in Haryana?
A. Rohtak B. Yamunanagar
C. Faridabad D. Sonipat

Correct Ans: B
Q85. R # BILT Feara wf3aw fora aet # 82
A. Ugsh B. IR

C. WG D. @ug

Correct Ans: B

Q86. Where in Haryana would you find Gurudwara Neem Sahib?
A. Bhiwani B. Pinjore

C. Thaneswar D. Kaithal

Correct Ans: D

Q86. RN # IFearT e Wit fhw et & Rya 2

A. feramtr B. fSiR

C. geiRaT D. &ue

Correct Ans: D

Q87. Hathni Kund is a concrete barrage built on the Yamuna River, in which District?
A. Yamunanagar B. Palwal

C. Sirsa D. Rewari

Correct Ans: A

Q87. 54+t F3 U Fehic aror § Forwa fmTor e Y W forar o ¥ 7% forw oy 7 82

A.?-Tﬂ?ﬂ?ﬂ'lT B. Jeldel

C. @ D. arar

Correct Ans: A

Q88. The Haryana government conferred the Haryana Gaurav Samman award on which
Bollywood playback singer recently?

A. Arijiit Singh B. Nakash Aziz
C. Sonu Nigam D. Abhijit Bhattacharya
Correct Ans: C

Q88. g & # AT WFR A fFw afeligs wAdF I+ H gRAON ke FFATT [WEFR § FFaAfara fomar 82
A. 3G 1&g B. SThTRT 37ofrel



C. | forare D. 3T srgremdy

Correct Ans: C

Q89. Instructions: Read the sentence and identify the correct word that best suits the
underlined word.

Gautam Buddha renounced the worldly pleasures to seek enlightenment.
A. stopped B. donated
C. gave up D. forgot

Correct Ans: C

Q90. Instructions: Read the sentence and identify the correct word that best suits the
underlined word.

Amit managed to collect donation for the charity event, with the help of his bountiful friends.
A. dutiful B. beautiful
C. liberal D. generous

Correct Ans: D

Q91. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

I___ this office last month."
A. will join B. have joined
C. joined D. would join

Correct Ans: C

Q92. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

Geetaisthe__________ girlin the class.
A. most tall B. tallest
C. taller D. more taller

Correct Ans: B

Q93. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Ritesh is always ready to help people at the drop of a hat.

A. rarely B. immediately
C. never D. slowly

Correct Ans: B

Q94. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Knitting a shawl for Lalitha was a piece of cake.
A. very easy B. Confusing



C. difficult D. complicated

Correct Ans: A

Q95. féer - FIfF IuYF req /A=Al FT TAT FIA §C AFT T F-

A EA-a@A I dFA A gheT F Y IR Ber 31 IF &Y Afher T ot B 7 7 Fw wFar B Iy
g
A. 3R B. erfara

C. ufqemr D. 98d

Correct Ans: C

Q96. faréer - FaIfF IUYF req/eAsal F1 FAT FIA §C AFT T -

ot aga PN § | s FROT g AW AsTF AR s arden ____ #
A. farar B. s
C. 3arT D. FsTmT

Correct Ans: B

Q97. fader - Ywifera FeraY 1 3 vga
oA F The & e A1 #X g AR A , 97 3 Alsw WA T FY AY WS W @A R |
A. IaATg T =T B.ag?rmmam

C. T ATAAT D. Sgd 3T gl

Correct Ans: A

Q98. fader - Y@ifha FqeTaX I Iy yga -

A5 AT o1l Y T § AW A SRl g8 R, ST femer IrwAa W R
A. 3SR glAT B. ga15 fohel S=T=TT

C. Sgd THeT glell D. #Hrarfa¥e gar

Correct Ans: A

Q99. & - 4 RFeul # & U 1w ersg F1 AT 2reg TAT -

3q

-]
A. 9T B. 3Tehrer
C.ay D. &Hd

Correct Ans: A

Q100. fa&er - 4 Raweul & ¥ T 7T 2reg 1 THTFGTH 2reg TAW -



st
A. T

C.gru

Correct Ans: A

B. 3%

D.da



